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SECTION -1
W@ug -] |
CHILD DEVELOPMENT AND PEDAGOGY
aTer-faer wd freror faferat

~  There arc 30 questions in all in this section.
-All questions are compulsory.

3 @V 1 A 30 U § |
[t W afar # |

",lhc actual age of the child is 13 yf:zirs and mental age is 14 years, then what
will be the Intelligence Quotient ?

(A)  112-50 (B) 10769

[€) . 11025 (D) 100-50
.z{”mﬂz;ra?ﬁaﬁaiﬁazﬁaﬂglgaﬁﬁ AR TEEF g 14 7 @ A Gfgered w@m

el - .

(A) 11250 : &) 10769 ...

(C) 110-25 (D) ~ 100-50

The "Classical conditioning theory' of lcarning was propounded by

(A)  Skinner (B) Pavlov

(C) Thorndike (D) Kohlberg

A w1 ‘et SR faar w fepa e

A) fErRA ' &) UEeE =

(C) YHgEHA ®)  FEeET A

Causc of juvenile dclinddcncy is

(A} parental conllict

(B) sympathetic behaviour of family members -
(C)  working in f'arnil.y with mutual consent

(D) wealthy family

AA- Y T HRIT &

(& TrEr-fgar 7 3Ed WAl _

() uRAR % A w1 geryfayl HTER.

(€ ufEr # a9 genta § w1 e

(D)  @yg 9iEr
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4 Which of the following has been ipgnored in children’s Free and Compulsary
Education Rights Act, 2009 7

(A} Facilitate training of teachers
(B)  Ensuring entry ol roaming boys
(€} Defining Academic calender

()

Arrangement of education after 14 years

mam?‘”ﬁfmamam forear aifuery atfufam, 2000 mranm:mw A
e g &

(A) ammaﬂm‘lﬂﬁwamzﬁwﬂmm
(B) 7] T & YAl i gegad s
(C) Usheigs seiret &I fAviia e

WB) 14 T4 & yyar e srEen

2 Which of the following steps makes research, action rescarch P
(A)  Construction of sub-concepts
(B)  Programmec implementation and evaluation
(C)  Generalization
(D) Review of Literaturce
mnumwmwwmwms ?
W) SYRCEIS w WO (B) WU & RareE U Yedisd
(C) WHFEER (D) W& T GRIEvT

6, The aim of adding Art Education in N.C.F.-2005 is .
(A)  to improve l]ogicul reasoning
(3)  to develop scientific outlook
(C) - to appreciate cultural heritage
(D) to visit historical sights
U1, 1L, 2005 T el T2 i Sign W3R ©
@) Al o 1 wifighg (B) AR gzt &1 faemg
(C) Bivgiw favad & ae (o) faetes el e afig

/}_ Development is never ending process, this idea is associated with
(A)  Principle of continuity (B) l’riﬁciplu ol interrelation
(C) Principle of interaction (D) Principle of integration
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THTH TR [ G AR v &, 7 Faaw o b
) &R;R_r" & g (B) 3= ey & famrd A
€ N E S d o) e # f 9

Thic . t
Which of the following is not a component of intelligence ?

(A} Logical thinking (B)  Vocational choices

(C)  Memory (D) Learning from experiences
F=iEREd 7 | SE-4 9fg w1 aew T 7 2

() i o (B) TAFAES wiad

) e (D) WA F HPE

Which of the following is not a psycho-motor activity of a child ?
(A)  Thinking (B)  Writing

(C) Throwing a ball _ (D)  Playing
frfefiaa § | aets &1 SA-H viwEa THeeE T 6 7

() Er ®)  ferm

(€) & ek @ g

Who gave 16 P.F. questionnaire to assess personality ?

(A) Gordon Allport (8] Sheldon

(C) R.B. Cattcll (D)  Sprenger

e &1 WG & o diere 9.0, S e &2

(A) TS ST B) ¥wed

qC) HRA. Hed D) T=R

Which of the following is a charactcristic of a gifted learner ?

(A) He can feel undcrstimulatcd and bored il the class activities are not
challenging cnough

(B) He gets aggressive and frustrated

(C) He engages in ritualistic behaviour like hand Napping and rocking cte.

(D) He is highly temperamental

et 4 - fagiman wfar el e 2

e w @Y AT saes SR T g 6, dl F FOARE IR

& 3R Fd W@

(B) #@ 3 ST giad & Al 3

() & W FEER Al ¢ ST w1 e, feernn snie

(D) & Fga @ s @l e

(&)
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12 Inclusion of children with special needs

: (A) s an unrealistic goal

(B)  will increase the burden on the schools

(C)  requires a change in attitude, content and approach Lo learning

(D) is detrimental to children without disabilitics

\ fagin savaerdr g a=di @ et &
(A) U ardigs o8 §
B) Taareri @ R =@er am
©)  Town 3 i gfizaon, fawa-aw siR o i # S T
_i" D) o sreE 7 €, 39 gl & o aiHERS @
: l'.'i. Problem solving is not

(A)  poal directed

(B) a skill that can be learned and practised
: (C) based on the understanding and use of scquential steps
(D) about musical ability
I FHIYA & @

(A)  FAEFEE

1 (B) o T & 9 e ST § S S svard TR s e €
"‘ () Waﬁthﬁ%WIﬂW&ﬂuﬁﬁ% .
! ) i e e h a
. 1;1? Thematic Apperception Test (TAT) of measuring personality is a
i (A) subjective technique (B)  objective technique
; (C)  projective technique (D) experimental technique
: ArifiTE siEl G St A
(a) et faf e B s
() v fafu @ D) wEmeTE faiy ¢
]} which of the following leads to creativity ?
(A) Emotional thinking (B)"  Convergent thinking
(C) Divergent thinking (D) Egoistic thinking

sozs9  |HIIIHNLIE— n-a
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) 111-A

ﬁm{ﬁf@ﬁﬁﬁﬁq‘mwmmaﬁafnﬁm% ?

(A)
2

wiafir feer B)  3hrard foe
FRIRT ferer (D) ¥ far

I}‘;, Child centred pedagogy means

(A)
(B)
(€)
(D)

asking the children 1o follow and imitate the teacher

letting the children be totally frec
giving moral education to the children

giving importance to children's voices and their active participation

(D)

() e T TR SR e e & ferd
(B) F=dl & U1 ©Y § Sa=aTr 7
(C) @=di &l Afdas ferear 2
) T F s ot s e e @ e
]; Raven Pl.'ogrcssivc Matrices are used to measure :
(A)  Personality - (B) Learning
(C) Intelligence (D) Creativitly 3
e i BT T G ..., 5 T T Fo T B
"ty Afee (B) 3T
© 9 (D) GTHH
.ﬁ' According to Vygotsky, children lcarn
(A) by imitation
(B) by interacting with adults and pcers
(C) when reinforcement is offered

by maturation

(A)
(B)
2
(D)

T R aeEEER] & a g
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Which psychologist firs( ere

(A) Weehsler

ate d the intelligence test ?
(13) Binet

(C)  Spearman (D) Cattell

. 1o AR 5 AR W o e i Frsfon B 2

(A)  HEEER Cowm

(€ wigwE (D) e

What effort should a teacher make for the upliftment of Giftéd children ?
(A)  Slow to teach (B) Special classes and motivation
(C)  Punishing them | (D) Ignoring them :

U IeTh gRT I St & ear & SiE-a wAr fean s 2

(A WHE AR T (g Fafire we o AR

(C) % 3Ug g (D) 39 W A Tél &A1

What is the minimum number of hours of work per week for teachers in the
Right to Education Act, 2009 ?

(A) 30 ' (B) 56
(C) 45 (D) 70

forar % arfusr aifufem, 2000 F foer & fom ufa wa® =Fag s gvel =
FTE ?

(A) 30 - (B) 56
tfC) 45 : (D) 70

Which kind of rescarch is done by the principal of school to identify and remove
the causes of various emotional problems of the students ?

(A) Action Rescarch (B)  Qualitative Rescarch
(C) Historical Rescarch =~ (D) Df:scriptivc Rescarch

mmﬂmﬁwmﬁaﬁmaﬁﬁfﬁwmmmwﬁaﬂ
EdEA 9 3% 91 T H T BH-G1 AU a1 S 8 2

(o)  Torarenes arHYE () TOTEE SRR

() Ufeiad s (D) AR SFEYE

Which of the following theories is related to learning by conscquences ?
(A)  Operant conditioning (B)  Insight learning

(C) Classical conditioning (D) Cognitive learning

22259 | HININIOND
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Frietad 5 9 SH-81 g ufod gy dies @ i & 2
(A) THRIA-UHT FEE | B) i afem
(S} TN S (D) SRS HE

When we use our current 'schema’ to interpret the external world, it is called

(A)  Assimilation (B)  Association

(C) Adaptation (D)  Equilibrium

9 &H TN T 1 AT A S % favei 3 9 €, 69 39 Fel S &
(A STEATeH TR 0T R (B) =

(C) HIFeH - (D)  HJeH

Which of the following is not a characteristic of projective test ?

(A) Ambiguous stimulus (B) Freedom to respond

(C) Subjective perception (D) Objective interpretation

ffclaa 5 4 &F-d weide s & faviar 78 & 2

AA) IR IEYH (B)  3FFAT I @EEd

(C) =ATFIEH WeHeqor (D) FES ==

According to Albert Bandura, four conditions arc nccessary in obscrvational
learning. The right sequence of thesc conditions is '

(A) Motivation — Attention — Retention — Reproduction
(B) Attention — Motivation — Retention — Reproduction
(C) Atiention — Retention =— Reproduction — Motivation

(D)  Attention — Retention — Motivation — Reproduction

AD) AU — RO — RO — A

According to Sigmund Freud, which method is most appropriate for identilying

the characteristics of unconscious mind ?

(A)  Casc study (B)  Dream analysis

(C)  Sociometry technique (D)  Interview

22250 |AELNIND ' - PT.0.
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RFTVS 10 & SFAR s o = Faviwensi] 1 A 04 1 waiin 39 oy
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(C) TFHEME ToE (D)  TARITER

A.D.H.D. means

(A) childrcp with speaking difficulty
(B)  children with hearing deficiency
(C)  children with disorder of attention
(B)  children with visual impairment

U 2URE. F1 A §

(A) e HieE Tt qEH  (B) AV Hedl AT dTer
(€) v+ fgoR aet areas (D)  gfedma ae aEE

A test designed to reveal a person's strength or weakness in one or more areas is
called

(A)  Remedial test - (B) Diagnostic test
(C)  Achicvement test (D) Formative test

Qzﬁwwatmﬁﬁaﬂmwma&mmnmwmmmmm
HE & %ﬁa:mnmt.,wwa

(A)  STERTEHE e @ Ferems g
)  ITAMI GIET (D)  TEATE Y&

By which constitutional amcndmcm the 'nghl to Education' was added in lhc
Constitution of India ?

(A) 86th Amendment (B) 74‘lh Amendment

(C) 89th Amendment (D) 91st Amendment

e A R H GRS s wfnfem o

&) 86 d1 HIMUA (B) 74 T HIMuA

(©) 89 @1 gumA (D) 91 = T
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fe=t
S 6T T gl 30 v |
W e aifad §

FriciiEd TIR F MR W ue ey a1 @ 35t & Iy A

N UF FHfEwRT @ Feilen &, S0 W AU U W A i wEiaEE w5 o
e AFT I G W O ¥ | 3w 2w F wy Fadl € FH PN F | UH
FXFACN [FE ST SN W SRR * @ % | T wed § 5 A 5
wid <37 39 W § | WX S R S W @ I S SmeR ae g ¢ 1
a5 W ALFEE W EE A 6 FO 39 &7 S g4 % 9w o |

31. ﬁmfﬁf@ﬁﬁﬁ‘ﬁi_ﬂaﬂm%

(A) =@l (B) &AM
(C) fore (Bf 3=
10, ‘HAER' W= H HH-9 399 & 2
g .
A) T B
© & D) ¥
33, et | 9§ WEETaE 6 e
TR (B) 3T
(C) &A (D) =&
15 frifefaa § @ fom o o wed o gan € 2
) A (B) Fren
(C) HIH (D) SHE
2. ‘AR v @ aHE-fae @
(A) T3 H TR " (B) T 3K faER
© 09 ] TR (D) HA & g1 T

~

it iy % AMR T VT W@ 36 W 40 T H WAl & I ST ;

#if 7T e T, g e e ol EE @ @ | ST A RO A 6
?a:-?:ma';'lwsfa:rr?i%a%‘mﬁaréﬂuﬁwmm‘amﬁw\m@ | T
e 0 ed g WG A A | en 3 Sl SIRTe ¢ | ¥ W FW HW RN

)y I P10,
22259 | L0100 _
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36. ﬁﬂmmﬁ:iﬂnm Wﬂaaﬁ-ma:rr—r% ?

() W eTeRler @) T wiaed
€) W= yFEE (D) @ T
v P A F w e v e § o
() TR (B) SiifaEh
© @) =
38, TERT % STTAR TNV’ W 7 o &
() fom ' B) faafed
) FIIRd o) Frfa
39. ‘WA’ ¥ & E@?ﬁr—r g
(A) A B FEE
(€ st | . (D) e
40. ‘g’ I W A B |
() AE (B) &wied
(C) TWE (D) W H o
41, A % e fho e € 2 .
(A)  TH B) I
() . (D) ¥R

42, ‘=% @ ofd I qor § Hi oy’ RTE FI AR D § 2
A T IR EER (B) 3T IO 34T T
(C) FHH HA Wik THAH (D) HI FHATTT TE Tow
43, ‘“OTH AT HerE H T oY § '
(A)  HiSagEE HE FEAT
B) TR-fARRER &
(C) - FT I W A A
(B TUEE 1 EE T e SR s e
49, '3 TR AT SN, PAfH I TR I G € 1" T R e 7w Fwr www

FE ?
(a) oy = (B) T a1
Wl OgE A (D) fourETeE TR

22259 | HINUVNILIR



pred 13 J

a5, "V O &' 3 B MR W gy ey w5 e
(A)  AWEANE argy

46. ‘_?s'"TOWWWE&Wﬂﬁ'amﬁwqm‘@'mﬁmmmﬁwmfzm%?

B faurEmE am

(A) AT (B) WEESF U
(©)  fran-fergiwor (B)  TvErE fagiy
a7 M SN W F ITAR A gemied & " it vz & e A Iy e 7
(A) R o (B) Torar
Ky I (D) UY=Ig-dH

@%ﬂ%?@aﬁﬁﬁq-mmwa?
(A) BT AR T TH I IR T @ o @
(B) WIE TH W I W A F AR, @’ ek wqea-aue e § s T
A E | .
(C) UH 9 9 % M S @ awl 1 SvEEg 39 WS @, 349
e wed & |
(D) T & [TE AYE QA T € |
49, "7 ¥fE G W GFE WAL W FEe # waem @5 a1 | 59 @ I @
/@mam &:ﬁ;quwq@aﬁasﬂéi I A WA WA e

wH ¥
(A) T, X, qedt (B) W, ud, fah]
() vE, FR, fFq B) IW, i, @

50, “m’af{ﬁmzamm#ﬂi‘ &5 @1 TANT ¢ |
34 A o Eifehd a1 &1 HEvl: Vel WIS §Y TR

(n)  Fagen, fgel, faset (B) o, v, vt
©) o, 3, 3 () Fa, e, e
51, i & 4w faee g @ o g for 3 e § 2 LSRW
H) & TR @) Tretles
) @aa ' () iR R

o . - ' ~T.0.
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14
i 9ST F1 A §
(A IERYT I U e fiyermn & o
B e W g e el
(C) 97 i G & e vy & |
(D) wﬁﬁmtﬂiﬁwqxaﬁmml
dedfea =1 3
(A) =3 @l

(B) 574 W
(C)  zmardt wm (D) eiTel W
. ol T T 1 e Srited 4 ¥ T &

() Tawal = s (B) IUUT I AT
€)  EH T AT (D) WA oI SATGHAT

5. el 1 fafue Rien 1 s e @ w e i 2
(8)  WHTE &R (B) 3%d UafHa W
(©) weEhE 'R (D) 3ed HMAHE W)

Frafeifaa 1 4 e foeor =1 siow 6 & |

(A)  Wfew g 1 IRon 21 (B) TGl FAE

(¢ fafaw wwisi w1 sE E (D) S@ERO WA EE
‘il srRem fafe' & fagia 3 witfea &

(3) @-Tid w5 fagia (B) Wi & fagia
() W i @ fagi (D] i w1 fgia
1§ -1 W JraA 9 R E 2 _

(A) 3 AT (B) SR AT

() H{HId g (D) TEA A

udh ey ediEA Hi e T @ :

(A) Al (B) TS

) e (D) AYHAT

:;ﬂf:{ra uvT F UER ©

(A) ST e B) TaversvreTs yym
@ et ue (D) CANHTTE Hyq
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SECTION - 11
LANGUAGE - 1
ENGLISH

There are 30 questions in all in this seclion.

All questions are compulsory.

Read the passage and answer the questions that follow :
Prose Passage ( Q. Nos. 31-35 ) :

Too much importance must not be attached to the wrong acts done by children,
particularly il they happen to be of minor nature. Many boys and girls at a young age
are hkely to be in the habit of stealing, neglecting their studies, slipping out of their
classes or using bad language. In nearly every case, the root cause of the trouble is the
fact that proper carc of the child is not taken in the house or sufficient interest is not
shown to him. But if the parents were wise, they would correct the faults of their
children by paying more attention to them. Whatever the case, onc thing should never
be done. Bad things in the children should never be repressed, that is, they should not
be compelled to change for the better under fear of the rod. Physical punishment docs
not improve them. It only makes them worse than before.

31. Which of the following phrascs has a determiner in it ?

(A) Causc of the trouble (B] Change for the better
(C) Worse than belore (D) Many boys and girls
99 the root cause of the trouble is the fact ... ‘is’ in this part of sentence has been
usced as
(A) main verb (B) helping verb
(C) conjunction (D) preposition

33, Which of the following has the three degrees of the adjective in their correct

form ?
(A) Much, more, most (B) Many, much, most
(C) Bad, badder, baddest (D) Like, likelier, likeliest

34, ‘.. in the habit of stcaling, neglecting their studics, slipping out of their

classes ... . Underlined words in this part of sentence are uscd as

(A) main verbs (B) conjunction

(C)  perunds (D) adjectives

(A) DBad things in the children (B) Faults of their children

(C) They would correct the faults (D) Whatever the case

22259 |0 IHIND - [ses PT.0
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37.

38.

41.

42,

43.

STL-2
16

Which of the following prefixes can be used to form the opposite of the word

legal’ ?

A il (B) dis-

(C) wun- . (D) im-
Correct one word for “That which never fails” is

(A) unflailable (B) infailable
(C) unfallible (D) infallible

Which of the following has a correct structurc of a question ?
(A) Docs Ann has a car ? (B) Docs Ann have a car ?
(C) Have Ann a car ? (D) Did Ann has a car ?
Which of the following is correct ?
(A) I hope he'll succeed at his work (B) 1hope hell succeed on his work
(C) 1 hope hell succeed in his work (D) 1 hope he'll succeed for his work
Which of the following is correct ?
(A) The old car moved much more faster than the new car
(3) The old car moved more faster than the new car
(C) The old car moved much faster than the new car
(D) The old car moved much more fast than thc new car
Which of the following structurcs of a question is correct ?
(A) Why didn’t you told me that ? (B) Why you didn'’t tell me that ?
(C) Why didn’t you that tell me ? (D) Why didn't you tell me that ?
Which of the following structures of a question is correct ? '
(A) Will be they arrested if they refusc to lcave ?
(B) Will they be arrested if they refusc to leave ?
(C) Will they be arrested if they refused to leave ?
(D)  Will they be arrested if they will refuse 1o leave ?
Which of the following passive voice of the given sentence is correct ?
‘All his fricnds laughed at him.’
(A) Hec was laughed by all his [riends
(3) He was laughed at by all his friends
(C) He was laugh at by all his [riends
(D) He was laughed at all his friends.
Which of the following words has a diphthong sound ?
(A) Speed ‘ (B) Liquid
(C) Paternal (D) Out

22259 | HIIVIEINNTN
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45, Which of the following words begins with the consonant sound /j/ ?
(A) jealous (B) zcal
(C)  wyeast (D) pist
46. In which of the following sentences is *have’ used as main verb ?
(A) Thave a shower every morning (B) I have lost the faith now
(C) 1 have never been to Delhi before (D) 1 have admitted my fault
47. In which of the following methods of teaching English language ‘Inductlive and
Deductive techniques’ of teaching are used ?
(A) Grammar cum Translation method
(B) Direct method
(C) Substitution method
(D) Bilingual method .
48. Which commissiop in 1948 accepted the importance of English language in our
curriculum ?
(A) Dr. Radhakrishnan Commission
(B) The Secondary Education Commission
(C) Central Advisory Board of Education
(D) Kothari Education Commission
49. . Who of the following prOPOSICd Listening-Speaking-Writing-Reading order of
teaching for learning English as foreign language ? :
(A) E. C. Kittson (B) Robert Paul

(C) J. A. Bright : (D) P. Gurrey
50. Which of the following approaches aims at teaching English by cstablishing

thorough drill and repetition of about 275 graded structures ?

(A) Structural Approach (B) Situational Approach
(C) Bilingual Approach (D) Communicative Approach

51. Dr. West's ‘New Method’ of teaching English emerged to overcome the limitations

51
of which of the following methods ?
(A) Grammar cum Translation mclhqd
(B) Substitution method
(C) Direct method
(D) Situational method
52. In which of the following 1lypes of substitulion the variables cannot be

interchanged ?

(A) Simple substitution (B) Compound substitution

(C) Complex substitution (D) Grammatical substitution

22289 (AN PT.0.




' 53, Which of the lollowing
(A\)

15 an advantapge of Communicalive Approach

It Aehiee wave '
teaches ways of CXpression

3) Iig A -
(B3) BROTES grammar and structures of our languages

(€) 1ts practical utility is yet to be awaited

) 1 5 i a . ) ey
(D) Iis not properly and scientifically developed as ycel

94, Which of the I'nllowin[; is related to the mental development of the learner ?

(A} Exposition (B) Imitation
(€} Characterization (D) Comprchension
95, Which of the following is an audio-visual teaching aid ?
) " (A} Gramophone (B) Flannel-board
(C)  Television (D) Radio
4 36.  Truce or False answer lype question is a lype of ...veeeeen.e. questian.
(A) Essay type (B) Objective type
(C)  Descriptive type (D) Short answer Lype
57.  Unil testis an cxpression of ....... evaluation.
.,' { (A)  normative (B) clfective
. (C) flormative (D)  conative
58.  Evaluation is a process of
! (A)  Ascertaining the quality, value of outcomes
:Il (3) Determining the extent of the achievement of objectives
3 (C)  Comparing the outcomes of instructions
() All ol these
| 9. Which of the following is a disadvantage of Situational Approach 2
(A)  Itcreates interest in teaching
’ (B) Itis action based approach
| (C)  Text-books cannot be taught by this method
(D) Material aids arc used in this approach
f H0. The text-books help the teachers in which of the following ways ?
: (A) It makes the teaching of English systematic
\ (13) It checks the teacher from going astray
) (C) It facilitates sell-learning and sclf-study
'I" () All of these
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SERENC BESIHECE

| UYL A |
sdlicifiad ivEMiE et (31 - 36 ) v wamoEn —

HAFE SRE W] Hedl EvASAiE | afy weEn seemEsien: [
Wag: a1 q A S i @ ) alt wd o S s gEfa a9 w4

FEENA: WAd | SRS USSR @Al s @t

| afae 29

SFYIEATE] IO Fad, e 39 va gEeufe: wafd | suREE ug wan

Fedlvi safd |
31, ‘SE: SO @ AR 7

(A) B)

(€) =l ) (D)
32, ) o fafeEr e A @ | A AT EeeEEia —

() e (B)

() T (D)
93, ‘@Rl T % W ?

(A) HZEE: (B)

() agdie: D)
34. ‘Uifta:’ 3T & U ?

(A) T ; (13)

() @ (D)
35, ‘A’ g & wedd: ?

(A) T (B)

) (D)
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SECTION - 111
LANGUAGE - 11
ENGLISH
There are 30 questions in all in this section.

All questions are compulsory,
1 ~ . e w - i
(Q. Nos. 61-62 ) : l_{uld the following passage and answer the questions :
“Watching television for a long time could lower academic performance. It ‘steals’ away

the recading ime. Time management is about self-discipline. Time must be managed
between filled and unfilled time.’

(77} [ SO may be an appropriate title for the given cxtract.
(A) Discipline (B) - Scll-respect
(C) Time-management (D) Television

‘His father never starved, but he couldn’t cast any doubt on the story. So he had

to make an cffort to hold his tongue.’

$2. The linking devices used in the above.extract belong to

(A) concession and contrast (B) opinion and purposc
(C) condition and adding idcas (D) contrast and conscquence
63 oo 1 was no better than a dead man, I was alive and was able to reach

the shore.

(A) Though ; B) If

(C) Yet (D) Morcover
64. Mecasles ...coeeeneen an infectious discase.

(A) -arc (B) is

(C)  wall (D) have
65. My fricnd and his father ..o meeting us 10morrow.

(A) arc (B) is

(©€) will (D) have

66, The fisherman cast his net for LWo whole days Bt sicovaeniann not get a good lot.

W) can (B) might

(C) could L
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67.

68,

69,

70,

i

72.

73.

74.

Ravi’s uncle guided him how he .......o.eee

w
b

. attempt his tesb

(3) should

(A)  can

(C) may (D) will
Flying in the face ol means

(A)  respect (B) pray
(C) reward (D) insult

‘By hits and starts’ means

(A)
(C)

not it to start (B) good omen

not regular (D) speedily

‘An clegy’ is

(A)
(B)
(€)
(D)

a joylul lyric
a pocm on death of somconce dear
a sonncl on naturce

a marriage song

The speaker / narrator in the Pastoral clegy is

(A)
(C)

......

(A)
©)

a musician (B) a shepherd

a painter (D) a sculptor
is the rhyme scheme of the English sonnct.
abab, cdcd, elel, gg (B) abab, abab, abc, cde

abc, abe, def, def, gg (D) abcde, abede, efef

The drama that developed rom religious rituals was

(A)
(€)

Classical drama (B) Elizabethan drama

Medieval drama _ (D) Melodrama

/'beri/ is the correet transcription of

(A)
(C)

beri (B) Dberry

bury (D)  Dbeary

qoxist’ is transcribed as

(A)

(C)

[egjhist - (B)  Jepziest)
Jegnst/ (D) /Jlg'ast/
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70.

-y
.
~]

79.

81.

83,

The correct transcription of ‘virtue' is

(A) /warchu:/ B) Jvatfu/
(€) /vortu:/ (D) Jwatfu:/
‘Adjust’ is transcribed as

(A)  /9dsnst/ (B) /ad]ust/
(€) /adjust/ (D) /d'daast/

“Velar' is the sound formed by

(A) the front of the tonguc and the hard palate

(B) the lower lip and the upper teeth

(C) the blade of the tongue and teeth ridge

(D) the back of the tongue and the soft palate

Sounds {7, v, 0, ' clc. are

(A) scmi-vowels (B) lateral

(C) fricatives [D] nasals.
Which of the following plays the basic role in learning a mother tonguc ?
(A) Motivation (B) Naturalness

(C) Habit formation (D) Purposc

is onc of the ¢h

---------------------

(A) LExamples arc given Lo make the things clear

(13) It does not need trained teachers

(C) Learner learns the target language as mother tonguc

(D) Textbook plays an important role

Linguistic variability or multilingualism is @ oo
of a forcign language.

(A)  boon (B) hardship
(C) tool (D) ladder
The basic remedial English may cover

(A)  vocabulary (B) rcading com prehension
(C) both (A) and (13) (D) none ol these

22259 [ [LEVHINTID
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i v ey Al ey wm e g g .
84.  Remedial classes play an important role for
(A)  socicty (B) bright students
(C) disabled ones (D) intelligent ones

85.  Animportant fecature of an adequate cvaluation 1s
_ (A) itis irresponsible (B) itis diagnostic

(C) it enhances learning (D) it harasscs stu dents
(Q. Nos. B6-88) :

“The wind lics asleep in the arms of the dawn

Like a child that has cried all night.”
86. The sccond line 1s an example of

(A)  Simile (B) Mectaphor

(C) Personilication (D) Alliteration

87. ‘Mclaphor’is defined as

(A) far letched simile (B) implied similc
(C) covert simile (D) explicit simile
.. DRSS S is an cxamplc of personification in the above lines.
(A) Wind (B) Child
(C) Night (D) That

89. Blank versc is iambic pentameter -
(A) without rhyme
(3) with rhyme
(C)] with gllcrnatc rhyme
(D) without alternate rhyme
90. ‘'O wild west wind, thou breath of Autumn'’s being.’
The above line contains
(A) Personification and alliteration
(3) Simile and alliteration
(C) Personification and simile

(D) Metaphor and personification
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(A) = B
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63. ‘qea:' e U8 & [ ?
() TR (B}
) e at )
64.. RERiGEY 3efET O qT4: #Re —
W T I
© A t2)
63. “pgEe: | 3o WA sk —
N T (B)
ey RgE: =

(Ay. WL+ HRG
(C) U+ HRE
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.’ 67. g o/ T a2
(A) T (|1 T
: (C) =™ _ (D) &g
3 08, ‘T T F: g 2
r () = B T
(© @& )
fg velies T v gy A fee |
(A) A @ o
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! 70, ‘TeRE e wrafame e -
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) T T (D) foeTeor &
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7). VoS E SR 9w 2
2 (A) T B ®UH
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' (A) MHYET B) WHEUHA
-‘F (C) MEUAT B THHE

73, pecontuicakdkacicolein A
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(C) e ueEar e aeEf ) SERT: W v el
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SECTION -1V / @Ug - [V
In this Scction, there are 2 gy),- -scctions i.e. IV(a) Mathematics and Science and

N[? SpolliSIEs. Bl sub-sections consist of 60 Multiple choice Questions
cacn

The candidate has to choose cither IV(a) Mathematies and Science OR IV(b) Social
Studies as sclected in the Online Application Form and answer all the 60 questions.

L ”gqa'mmwla)mmﬁmqawmmrﬁmﬁw | &
IFEVEl & U H 60 Fgfamed we ¥ ,
aiiardl F1 IV(a) T T fawm sraar rvge) wee snags, fE w@ae siEe
AT A€ H G R o Ivwue g & ud @i 6o vl w1 I I 7

SECTION - IV(a) / @US - IV(a)
MATHEMATICS & SCIENCE / Tifuia qur fasm=

There arc 60 questions in all in this section. The candidates who have sclected this
subject must answer all the questions.

7 3Ug U Fel 60 U¥A & | oW nafirdi 3 o fawg 1 997 v & 3% 9 W FE
Sfad

30 -5 512
91. The valuc of []—x-s-—- is.
625x6~
(A) 25 (B) 5
() 125 (D) 625
-5.212 "
A "55 FAAE
625x6~
(A) 25 , B 5
(C) 125 (D) 625
92, If (6)?**Y +216=36 then the valuc of x is
(A) 1 B) 2
C) 0 (D) 05
afz (62 Y 4216 =36 79 x H HA &
Ay 1 B) 2
(C) O (D) 05
93. By subtracting - 5x? +7_:J.rQ -4xy from 3xy+2y2 -2x2 we get the expression
(A)  7xy-5y’+3x? (B) -7xy+7y%-3x?
(C) 7Txy+Ty?+3x? (D)  xy-9y*-7x?

22259 | 0T WA O P.T.0.




1 il

3xy+2y° —2x? W - 5,7 + 7y —axy &l "2 U wrd 251 v

(A)  Tay-5y” +3x7 B)  -Txy+ 7yt 3%
(C)  Txy+7y*+3x" D) xy-9y° =Tat*
94, Factors of expression 9a? - 9ab - 40b* arc
(A]  (3a+5b)(3a-5b) - (B) (3a+5b)(3a-8b)
(€} (3a-5b)(3a+8b) (D) (3a+8b) (3a-8b)
ZHH 962 - 9ab - 40b2 HT UHEE €
(A} (3a+5b)(3a-5D) (B) (3a+5b) (3a -8D)
"(C)  (3a-5b)(3a+8b) (D) (3a+8b)(3a-8b)
95. The valuc of (x? +7x+10)+(x+2) is |
(A (x+1) B) (x+3)
IS A D) (x+5)
[x"! +7x+10)+(x+2) 1 HHA g
A . {x*1] B) (x+3)
(C) (x+2) D) $x% 5 )

06. Denominator of a rational number exceeds its numcerator by 8. 1f 17 is added
the numerator and 1 is subtracted from denominator we gel the ration:

number 2— then the rational number is

w3 B
. X x
@ = O 13

r‘rcﬁm'i“ﬁuﬁ@nmrﬁw%amﬁgaﬁm%laﬁaimﬁ1??!'11;5“::34?7:%::5'
| g i e S I gl €, a9 arory S 8

2
13 21
(A) 57 (13) 13
. 3 7
(C) Ij',‘ D) 13

g7. The smallest square number which is divided by cach of the numbe
7. 14 and 21 is

() 98 (B) 1764
(C) 394 (D) 2056
G121 4 B A A S 7, 14 3R 200 W uEE A Tl v g e s
(A) 98 (13) 1764
() 394 (D) 2056
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08.

g9,

100,

101.

45 J

The value f———__l________ 2

& 3(_1_5“ + Y[0-000343) s
0-.-000216

(A) 10

: B) 001
) 01 D) 20
1 :
/ - + V(0-000343) =1 9F &
aff 8
}(O-DUUEIGJ
M 10 ® oo

Shankar took a loan of Rs. 25,000 for purchasing a machine. How much amount

will he repay after 1 vear 6 months at annual rate of 12%, when ‘interest is
accumulated annually ?

(A)  Rs. 25,850 (B)  Rs.27.680

(C) Rs. 30,000 (D)  Rs. 29.680
W‘TTT?IHHH“?EEWQSUOO?ioTUTﬁHTEIEF | 99 6 HIE 91F 12% a4 81
4 e U e T ST =11 aifves @it 2ial & 2

(A) 25,850 Go (B) 27,680 %o
(C) 30,000 Fo (D) 29,680 %o

Rajan purchascd two ceiling fans at the rate Rs. 2,500 cach. Out of which one
[an was sold at 15% profit and other was sold at 8% loss. How much profit or
loss purccnlagc is obtained in the whole transaction ?

(A) 35 % loss (B) 7 % profit

(C) 3-5% profit (D)  1-5 % loss

IS 21 Bd U 2,500 Bo Wid 9@ @ X @ @A) IEA W USG9 F 15% TN AR
T 1 8% I W =911 39 WIg 7 fehe WTaeId @1 S1UAl 1 g5 2

U\) 35 ouiﬂﬁ EB) 7 % '(_"'"q
(C) 359%™ (D) 1:5% &I

Under Swachh Bharat Mission 20 volunteers can clean their village in 8 days.
I '.:]Ll;,n, needs to be cleaned in 5 days, then how many volunteers will be

required ?

(A] 20 (B) 32

(€C) 15 (D) 30

Tras qE HaE & ded 20 EAEEE 0 ME & 8 {5 A @ i uEd § ﬂﬁ
Mg w1 5 fa 1 e FwE , d9 [ Edaal |l savaddl el ?

(A) 20 (B) 32

(C) 15 (D) 30

T 566 RE0:

=

(B —— e ——

P e g
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e et . e . M gl i R ——

in 6 hours with

2. Parth; o i . * P '(::ICI‘. .
tha moves from Jhunjhunu to Jodhpur by car o1 while returning, if |

average speed of 60 km/hour. What will be average speed
takes 471’- hours ?
(A) 80 km/hour ' (3) <70 km/hour

(C) 90 km/hour (D) 60 km/hour

W R ER R W A Gofa::i‘umamﬁafﬁmamﬁaﬁﬂ%'aﬂ' & =
S W FR F A e w4 @ e 9 39 45 qE 7

(A) 80 /T B) 70 fHHI/Fv

(C) 90 TwHI/Hve D) 60 fEel/ET

103. Three years back, the population of a village was 50000. After that, in the firs
year the rate of growth of population was 5%. In the sccond year, ducll
cpidemic, the population decreased by 10% and in the third year, lhf: POP‘-}IF&UDZ
growth rate was noticed 1o be by 4%. The present population of the village 1s

(A) 50000 (B) 53000

(C) 49140 (D) 51140

U TME F SEREn dF a9 Teel 50000 #11 IEE UTHAW Ueel g H A
% T T g1 TR a4 H HEEH h R AAEEHA] 10% T2 T AT AR

TR Y T 4% T TS| T F A TARSAT €

(A) 50000 (B) 53000

(C) 49140 (D) 51140

104. In given figure if p || g then the value ol xis

p q o
\Xr
¥ :-:V ._\- 5
(A) S5° (13) 05°
(C) 65 (D) 105

22259 (LTI . 666
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qu:urm b} Pl g T8 3 &G

f}

—) 5

[."\] 55° “3} 950
(C) 65° : | (D) 105°

105. Itis given that AABC = AFDE and AB=5 cm, #B = 40° and ZA = 80°. Which one
of the following is true ? _

(A) DF=3cm; /F = 60° (B) DF=5cm: ZE = 60°
(C)] DE=5ctm; ZE = 60° (D) DE=5cm; /D= 40°

941 & & AABC = AFDE @91 AB =5 ¥, /B = 40° ¥ 2A = 80°, feifeiiad & @

FE-9T FEl 2
(A) DF=5%4H; £F=60° (B)  DF=53H; LE=60°
(C) DE=5¥9l; /E=60° (D) DE=5%Hl; 2D = 40°

106. A tank of 30 metre long, 20 metre wide and 12 metre deep is dug in a

rectangular field of length 588 metre and breadth 50 metre. The earth sand so |,

dug out is hprcad cvenly on the rcmammg part of the field. Thc height of the field
raiscd by it is

(A) 25 metre (B) 2:Scm
(C) 2-:5 metre (D) 25 c¢cm
588 TZT & 3R 50 WY 912 U% HEdR T H U 30 HieL o, 20 HiZX 9

7 12 Hizg TR 2T @R S § 1 39 YR @5 & e g gt e @ da #
I 9T A U HE €9 § Fell 1991 STl & | 399 T ) 981 g8 Hd1 el

(A) 25727 (B) 2:5FH
(C) 2:5H2T - | (D) 254!

2259 | [0LHILA 666 | PG
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107.

108.

109.

STLQ

_ ' 1ow many cubes of g
Dimensions of a cuboid are 60 ecm » 54 cm * 30 em. Hox .
6 cm can be placed in the cuboid ?

(A) 360 (B) 2700

(C) 450 (D) 300

T ®) I 60 Wht « 4 WA « 30 WA €1 3T FAH
fe- a9 T 5 Fahd € ?

& w6 AHl

(A) 360 (B) 2700

(C) 450 (D) 300

: H— eights are Jg

than 60 kg is

P

60-65 65-70

Weight (kg) 40-45 45-50 50-55 55-60

Number of 4 5 10 7 6 8
persons

(A) 26 (B) 21

(C) 29 D) 32

i @ g2 e @wvil & fe, 60 a1 & 1 T9 & Afdal wl WA E

" § 50 == 60 | 60-65 | 6570
o () | 4045 | 45-50 | 50-55 55

afwal = den| 4 5 10 7 ° ¢
(A) 26 B) 21
(C) 29 (D) 32

Following pic chart represents cxpenscs on diffcrent items in construction ¢
room. If total expenscs in construction of the room arc Rs. 2,00,000, then b

much moncy was expended on labour ?

Cement

Iron 72° Bricl-:'e;

- 549°
Others 108° el
(A) Rs. 10,000 (B)  Rs. 50,000
(C) Rs. 60,000 (D)  Rs. 40,000

22259 | MDD | |
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110.

Vi

T T8 e U S Famior 3 fafirs wei o @e o qoen &) 4 e % i
F 2,00,000 T T € 9 Weigl) W e w9 2 6 0 7

0

(A) 10,000 Bo (B) 50,000%Fc

(C) 60,000 %o (D) 40,000 %o
A bag contains 15 red balls and some green balls. I the probability of drawing a

green ball is %, then the number of green balls is

(A) 5 ) : (B) 4

C) 3 By <2

UF A H 15 AT 7 AR P9 &l 7 €| A 0 & 9 e # a1 g,
(A) 5 (B) 4

(€) 3 (D) 2 : ,

Which of the following featurcs of mathematics makes it a global subject ?
(A) Languagc complexity (B) Brevity of language

(C)  Uniformity of language (D) All of these

T T a5 | SE-9 e 3§ e abtew fawg g g 2

(A) 9IS T SATEHA (B)  WIST & Hferean

(C) TG T UHETAT (D) THH F Wl

Through mathematics teaching, children develop skills to control which of the
following cmotions ?
(A)  Logic (B) Sclf-confidence

(C)  Thinking power (D)  All of these
Aforer foreror o wreg A Il 1 H @ - 9EA ® A T @ e
'-']'F-'-T:Jf! 'F’I:I' am 'E'.’ ?

(A)  THYITE (B) aner-fasara
) faamufs (D) 3N Al

2259 [N PITO.
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113. wWh

g li"n 18 the method of mathematics teaching in which the move is frop
Tknown to known and in which the tendency to scarch is ¢ncou raged 9 )

it‘t} Synthetic method (B)  Analytic mcthod

(C)  Project method (D) Laboratory mcthod

T foreror @Y wi-w fafy & fore s @ S I AR Uewd & 9 ot it
! T F UieawT oo & 2

(A) e fafy (B) Tergegon fata
(C) i fafy ‘ (D) e faty
114, The community objective of defining mathematical terms is
(A)  Cognitive (B)  Emotional
(C) Practical ' (D)  Functional
T wei i ufvwive w0 a2 §
(A)  ETHEIHS (B) W&
(C) HAFBISH (D)  HEEHR
115 weeeenee. 18 necessary to find out mathematical errors in children.
(A) Remedial test (B) Diagnostic test
(C) Oral test . (D)  Nature test
areAsi 7 nfordrg Gfedi &1 gar | % oo aeavas §
(A)  STIRIHE G0 (B) Teries gdier
() TifEe dieqor (D) @ 9o

116. The main drawback of objective testing is
(A) lack of comprchensiveness (B)  lack of credibility

(C) lack of expression (D) lack of validity
TS G T TE S R
(A) AT T ST @)  ferawear @ st
) izt &1 e (D) ST T I

117. Which qualitics are accurate in the examination ?
(A) Discrimination (B)  Validity
(C) Objectivity (D) Reliability _
g 1 S OT AT H Y W@l & ?
(A)  faEreRIa (B) - =
©) A D) faasga

22250 |IINTINAD
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118. The main aim ol exereise drill work in mathematics teac hing is
(A} to understand new for mula

(B] to enhance computation skill

(C)  to clear the new concept

(D) to utilise the knowledge in new circumstances

ot ferequr T 31T T ) and IV @

(A) T YT qEeEr (B)  TIUMT WrEAT I9TeT AT

(C) 4 YR F W& gy (D) 31 =i = afefafa F @y wer
119, Inductive method is suitable

(A)  for establishing the formula

(B)  to solve the problem through formula

(C]  to scarch the solution of problem

(D) to understand the solution of problem

(A) T T F ferm . (B) G &R GHEI & & & fom
(C) WU H 8ol WIFH & [l (D) O *1 8ef &1 GHer ¥ femm

120. Important characteristic(s) of Textbook of Mathematics is/are

~(A)  Subject matter (B) Language and style
(C)  Form of Textbook (D) All of these
TOTE & TETYRh i Hecayui faeman(t) &/8
(A) TEEE (B) ST U Jieql

(C) TE® & THI . (D) 39 F wt

121. In SI unit system, pascal is the unit of

(A) pressure ' (B) work
(C) cnergy (D) power
HAWIZII OEF GgTd 1 UReh f[hdel HE® & ?
(A) ®IH (B) EaEt
(€)  Fol D) ¥Ifw
122, Mecthod of heat transfler, by which heat emitted by the Sun reaches the Earth is
(A)  convection (B)  conduction .
(C) radiation (D) convection and conduction both

FeT war &) fa fafa grn g 4 Ieafa sen ge ae e § 2

(A) AT (B) e
) Tafarm (D) TEEA 3R arers gl

22250 1NN P.T.0.
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126.

- When an object i

—
AR I

52 §
irrors which arce kept at gge .
An object is placed between two l}]m]? n;:r.rmb B Wit}
other, The number of images formed w il be
(A) 3 B 4
e 5 FE] VAl &1 T
TWER 60° & U] W 7g § Goaer gUuNl & 7F TH T - y

&1 W B

(A) 3 B) 4
-
€ s (D) Ll
. Loudness of sound is determined by ....eevvvvenenn.. of so
(A)  amplitude (B) ﬂ.*cqucnc.y
(C) pitch (D)  time period :
A A Ao et g Fwifea =t et 1

(A) s B)  Fg
() AR (D) e A

placed in [ront of a concave mirror at its centre of cury.
the image formed will be

(A} real, inverted and smaller than object
(B)  real, inverted and cqual to the size of object
(C)

virtual, erect and smaller than object

(D) virtual, erect and cqual to the size of object

mﬁﬁwﬁmaﬁw%m&mfﬁwéﬁmmmﬁ.ﬁmf
(A) aﬂﬁﬁm,mmaﬁﬁ@ﬁa
(B) mﬁfﬂﬁ,mafnaq%m%m

(©) aﬂmﬁwm‘mjﬂma

(D) 2T, aﬁ{_aﬁ%mﬁ%m
Fusc wire works on the basis of '
(A)  magnetic effect of current

chemicq) clfeet o .
(C)  thermal effect of curreng eleet . .I' curr(..m
. : . ; foMagnetic induection
P AR S SR 9 gy :

L
() HRT T T gy

(B)

B) R e uTE
(C) YT =T TN gy (D) ' .
. The escape velocity for any object on the Earth ; ax
(A) 121 km/hour B) =k kls _
(C) 112 km/hour (D) B m/see

22259 ([0 000 o
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129.

130.

131.

132.

22259 |00

JEA1 W TR T F AT S wp

(A)  12:1 feeidiex /vy (B) 121 fFerzt/aes
(©) 112 fredier ez (D) 112 fFerde/dee

. A device used to store documents or pictures available on any paper into digital

memory of compulter is

l’-"i] OMR (B)  Scanner

(C) Plotter (D) MICR

I WX ITCT St e el ot dhegen =) Feforeer 91} & waifed o & feU
395G H el AW arelt 3w &

(A) 37 UH HT (OMR) B)
(C) Y (D) UT 3 Gl 3N (MICR)
Sb is the symbol for the clement :

(A)  antimony ' " (B)  selenium

(C) -strontium . ” (D) tin

Sb 9 T HT UdF & ?

() U B) Qe

€ ®ifEm D) fem
Compound among the following is

(A) diamond ' (B)  graphite

(C) ozone (D) water -
f=fefad 7 9 s &

(A) & (B) UFREE

(C) M © (D) W
Chemical formula of aluminium sulphate is

(A)  Al,SO, (B)  Al;(SO,),
(C)  AL(SO,), (D)  Al(SOy4);
Ui dethe @1 TaEtE 9 €

(A)  AlLSO, (B)  Al4(SO,),

(€)  AL(SO,), B), - AliSelg
The metal having lowest melting point among the following is
(B) bismuth

(A)  gallium
(D) arsenic

(C) antimony

Il pa
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133.

134.

135.

136.

137.

54 STL-2

fefaias o @ gad &9 eHiE diel did ¥

(A)  Tiferas @) (T

(C) rhteci (D) TS

Colour of phenolphthalein indicator in alkaline medium 15
(A)  white (B) pink

(C) ycllow (D) light green

ST T T Wi gas w1 O gl €

(A) 8 ﬁh‘:{ (B) TeAl r-ﬂ

(C) e _ (D)  &eenl B

Which of following synthetic fibres is 2 polymer of cthylene  glycol an
terephthalic acid ? _ .

(A) Arlon . (B) Dacron

(C) Nylon (D). Rayon

frteriad dyeima W@ § 4 @H-g Qﬁlﬂ:’fl?l TTgehIc] AR 2 {FdieTh 3 °
qgH & 7 :

() S @) THA

() e (D) &

One of the teaching maxims of inductive method is

(A) [from general Lo specilic (B) from part to whole

(C) fromrulcto example (D)  from known to unknown

s fafa &1 e et 9 4 _

(A) T § At ® e B) G Y wE @ AR
©) Fr @ SR @ AR (D) I W I SR
The discasc causcd by virus is

(A) Typhoid
(C) Rabics

arra S 0

(B) Malaria
(D) Diarrhoca

(A) ZTAREE B) Tl
) @ (D) o

er ) is an example of
(B) Fungi
(D) Algae

yeast ( Khame
() Bacteria
(C) Virus

Jozso - NIIID
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139

140.

A (EHR) U ILRLT §

(A)  STET SR (B) @A @l
(C) - TIHII] 1 (D) Ve
3. Which of the following is a cold habitat plant ?
[f\] 1 l}‘(ll‘i]]il (B] ) Bamboo
(C)  Opuntia (D)  Soldanclla
F=iietiiad | | -1 ¥d A= F Ry § 2
(A)  EIEgIe B) 99
(C) FARTEAL (D) Wieee .

Match the following :
1. Tuberculosis

a. Salmonella typhi
2. Typhoid b.  Varicella zoster
3. Whooping cough c. Bordetella pertusis
4. Chicken pox d. Mycobacterium tuberculosis
The correct answer is: '
1 2 3 4
(A) d ' a b C
(B) d b C a
(C) d _ a - b
(D) a b ] d
fep=ifeifiae T @@ ferr I :
1. &g T _ a.  WEHHC IS
2, TAERE | b, a{E X
3. TP Qrat c. @reeel Q{ZJHH .
4. B2 A 4. TRSERINEE SEGAEd
e I E
1 2 3 4
(A) d a b €
(13) d b . c a
() d a c b
(D) a b c d
Which is the largest gland of human body ?
(A)  Liver (B) ' FPancreas

(C) Adrenal (5 Thymus

e v A wad ae afy A E ?
(B) AR

(A)  Hgd .
(D) UEEY

(C) HiugEs

250 |WINIINIIY [666]
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141, -

142,

143.

144,

145.

146.

———y

56

8
'he site of fertilization in human female is
(A)  Vagina (B) Uterus
(€) Fallopian tube (D) Ovary
ST 949§ e e ¢
(A) =i

(B)  19ivig
(C)  3vg aifedt (henfgsa) =femm

(D) HvEwHy

Most common mode of asexual reproduction in Hydra is
(A)  Sporulation (B)  Binary fission
(C)  Multiple fission (D)  Budding

131 H HHII 1T 9 &1 WER &

(A) AT B) fg-fa@veq

(C) =g-fomvg (D)  HFeH

The term 'Hot spot’ was given by

(A)  Ernst Haeckel (B) A.G. Tansley
(C) Walter G. Rosen (D) Norman Myers
T A g fgar o '

(A)  IER g A (B) W Wl e A
(C) dTeeT St Tda A (D) ARET 99RE T

Which of the following techniques is most sultab]c for the disposal of biom
waste ?

(A) Land fill : (B) Incineration

(C) Recycling (D) Disposal in water
Wﬁﬁﬂwﬁﬁmmmmﬂ?ﬁmﬁwﬁi
I9YH & 2

(A) - YT \E (B) &Rl

(C) AT (D) el H frearur

Which of the following is known as '‘Birdman of India’ ?

(A)  Salim Al (B) A. P. J. Abdul Kalam

(C) Homi Jehangir Bhabha (D) C. V. Raman
fiferiaa d @ fHa! WRa & T’ & w9 5 @ SE g )

() e e B) U dlL R, aege A
(©) et e (D) . 9l uE

The main cumin producing districts of Rajasthan are
(A) Haran, Chittorgarh, Jhalawar

(B)  Alwar, Jaipur, Nagaur

(C)  Sri Ganganagar, Hanumangarh, Bikaner

(D) Jalore, Jodhpur. Barmer

22259 | IO _
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TSREE W S & W IEes fael 3
(A) SR, Fileg, et

(B) T, SR, TR

(€ = IR, T, darir
(D) SR, ST, arEiR

147, Wineh o.l' the follo?ving cell organclles has forming lace and maturation face ?
(A)  Mitochondria (B) Golgi body .
(C)  Lysosome (D) Plastid
Frieiea # 9 -8 wifvs § dequ ae aa gitugss @6 9 S § 7
(A) FRCII-gAl B) et &
() TIEEEH (D) TEF
148. The number of molar teeth present in upper jaw of an adult man is
(A) 1wo (B) four
(C) six (D) cight -
T9w T F O a9 § Iuferd wevs &l o wEn e e
(Aa) 3 B) ¥R '
c = (D) & - e
149. Out of the !'ollow%ng which comes under 'product of science’ ? - '
(A)  Scicntific attitude (B) Formulation of hypothesis
(C) Scientific laws (D) Experimentation L -
e § | S, o & SR, & i A E 2
(A) T g (B A
150. In science teaching, which type of learning should be planned alter diagnosting
the learning difficultics of the students ? | e
(A) - Team teaching (B) Remedial teaching -
(C) Micro-teaching (D) Diagnostic teaching et
famfordt = s Al % e & IR faEE R fre wenR o FoeroT,
F] Al F1 A el ?
(A) el e (B)  SUARTCE forevr
(C) H&T forequ] (D) frererTas feieiul =
. - 666 PT.O;:"
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SECTION - IV(b) / A2 - IV(b)
SOCIAL STUDIES / AMHAF AT

There are 60 questions in all in this section. The candidates who have ‘ﬂ.lu‘it.dq
subject must answer all the quulumu.

T WIS § el 60 W &1 o st 3 7w faug w0 wae e € 3 3 e

Hfqart &

\S

(Ve
]

\

Which of the following Indus-Saraswati civilization sites are located in Pakists

1 Mohenjodaro 2. Harappa
3. Prabhas Patan 4. Alamgirpur
5 Chanhudaro 6. Kotdiji
(A) 1,3,5,6 ' B) 1,2,4,5
€y 1.2,5.6° (D) '1,2,3,4
FefAfa fay-wed g o 9 9 $E-8 vimas 5 2 2
1. HEeee 2. g
3. HYIF yred 9, HTAHTY
5. ogadl 6.  HIzEEl
(A] 1.3.5.8 ‘ B 1,2,4,5
) 1,2,/5,6 ' B 1,2,8,4
The great mathematician Brahmagupta was born in which district of Rajasth:
(A) Jalore (B) Churu
(Cy Sikar ' (D) Bikancr
R TS HEF S I o e e 7 gan 2
@) S B T
() R (D) HIRFR
Consider the following statements about the Vedic period :
1 Grihastha Ashram was the [eeder of all other Ashrams
2. The village officer was called ‘Gramany’
. 3. The merchant class was called “Vish'

Which of the statements given above is / are true ?

(A)  Only | | B 1,2

c 1,3 : . 2 1,23

St et & ar 1 Frafalad @i ot e i
1. TR BT 3 H*H YA T U 9l
o up & T &l um"n CIals G "
q. ANE A1 #l ENEGE

gl @A TR A a et PRt Rt AR T .

(A)  dET moo1,2
© L3 D) .1,2,3
22250 | HIEIHINIHN 666
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a6.

Where was the branch of Ramsnehi sect est

(A)
(C)

Shahpura

Rain

oY

ablished by Sant Dariyavj ?
(13)  Sinhthal
(D) Khedapa

el SAEsH QR W) W o) v @ el @) s o

(A)

t)

PITRYR]T

|

B)  Taewe
(D) g

Consider the following statements about Mahaveer Swami :

1. He was born in Lumbini

2.

His childhood name was Vardhamana

3. His mother’s name was Mahamaya
4

He was the first Teerthankara of Jéu'nism

Which of the statements given above is / are true ?

(A)
(C)

Only 2

1. 2

y 4=

B) 2,3
D) 1,4

meER @ & ar | e s ® faen #

A

3T S S F gan
Ieh UG @] A G o
Ie! HIAT ST A0 e o
d 99 ¥ % 9UT aefe] o

T FE § @ wE-A/E wd e/E 2

(A
(«)

Fdd 2
1.2

B) 2,3
D) 1,4

Which of the following musical instruments is like a flute ?

(A)
(C)

Alagoja

Ravanhattha

(B) Bhapang
(D) Tandoora

Tifefaa 9 % SF-T A 49 G Y ate el & ?

)

(C)

LAl
TR

(B) Y
(D) g

Which one of the following pairs is correctly matched ?

(A)
(13)
(C)
(1)

Mahajanapada
Gandhara

Anga

Avanti

Kambaoja

22259 |00 D
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Mathura
Upjain
Sotthavati
Raypur
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Feifefiaa 4 4w s g ud gifed @ 2
Halsug ELIES
(4) TR YT
(B) 3 oA
(€) zmEfa e
(D) @raErs | AR
The Bhandadevara Temple is located in which district ?
(A)  Bundi - (B) Kota
(C) Baran (D) Jhalawar
(A) =& (B) ®IE
@ an (D) WEETE

Consider the [ollowing statements about Chandragupta Maurya :
| He married the daughter of Selcucus
2. He accepted Buddhism in the last period of his life
3. He made Ashoka his successor

Which of the statements given above is / are true ?

(A)  Only 1 (B) Only?2

& 1,2 m) 1,28

T W 3 AR 3 et wee W e S
1. 39 HegEd @1 g & a e
2. T AW e & iE F g v R
3. IHA HYIE & AT IR A

I w1 FE-E/E FEE GE /R 2

(A)  HFe 1 (B) eheel 2

€] L2 . D) 1,2,3

Consider the following statements about Ashoka’s inscriptions
1 Most of the inscriptions are in Prakrit language
2. Most of the inscrip}iun&; are in the Brahmi script

Which of the statements given above is / are true ?

(A)  Onlyl . (B)  Only2

() Both 1 and?2 (D) None of these

20259 [WBIUIIEAD
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3eleh & Afeial & an o Frafefaa s w far #ifE
. sifasivr aifaeia wigd Wien T §
2. sy ifena el el o @
STEH FE W A -/ T G E/E 2

AN I (B) had 2
(€ 13 23 , (D) T W BE T
. When did Chauri-Chaura incident take place ?
(A) January, 1922 (B) February, 1922
{(?}n qNU\'cnmbcr, 1922 (D) April, 1922
IRI-GRT &1 9T & g8 ? |
(A)  SHad, 1922 |)  HE, 1922
() TEER, 1922 (D) 3T, 1922
. Which ruler of Alwar appointed Pandit Harinarayan Sharma as his advisor ?
(A) Udai Singh (B) Jai Singh |
(C) Ram Singh (D) Man Singh
Fer BRI YHT S e % RE A A I WelEeHR g {6 2
() IEAEE (B) wEEE
) THEEe (D) HATEE

105.
St

22259 | [0 0L 00

Who said that ‘religion is the development of the divinity which is inherent in
human beings, religion is neither in the books nor in religious principles’?
(B) Swami Dayanand Saraswati

(C) Swami Vivekananda (D) Dadudayal
%fﬁﬂﬁmur&ﬁ"uﬁnﬁw%aﬁmﬁﬁﬁ&mwmi,uﬁaﬁrg{aﬁﬁt
3 7 iy fagrar 57 2

(A) T THHERA T (B) @ TS A
€ A fFEFEE (D) RIGaTe

Who is culllt:d the first poet of the deprived class of India ?

(A) Dadu

(A) Raja Rammohan Roy

(B) Jayanak

(D) Chokhamcla
el ST € 7

(B) SHFTH

(D) Sa@nte

(C) Ramdas
aRd & Had ai @ gedl ferdd

(A) =g

() I
Jetter opposing Aurangzeb’s imposition ol Jiziya tax ?

Which ruler wrotc a .
(B) Jaswant Singh

(A)  Raj Singh

(C) Man Singh (D) Durgadas Rathore

Nl

- o W
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107.

108.

109.

62 STI"E‘.

Wk = ~ = Ty = ) I
ST FRT o a e i T e 4 R faamd AT |
: . |

() W (D) CUIEACIICIE |

Which states’ army did Doongji and Jawahariji fight against ?

(A)  Bikaner and Jodhpur () Bharatpur and Jodhpur ‘
(C) Bharatpur and Bikaner (D) Udaipur and Banswara |

el & SR Fa e @) d e dad f 2

B)  SHFFR T S B) AR T A
(C) WA F b (D) IRAR F AEATE

Who of the following revolutionarics assumed the pscudo namc ‘Amard:

Vairagi’ to avoid arrest ? ,

(A)  Arjunlal Sethi (B) Pratap Singh Beticun

(C) Kesari Singh Barhath (D) Jorawar Singh Barhath

Eﬁ@mm 73 PR @ @ 3 fe SRERY AT H B A
7

(&) SATHA Ul (B) HATiEE FRES

(€) =Hudl faw anes ) SER e @nEs
Which revolutionary of Rajasthan was imprisoned in Tihar Jail ?
(A)  Arjunlal Sethi (B) Gopal Singh Kharwa
(C) Kesari Singh.Barrhath (D) Pratap Singh Barhath
st % T wifeRrl @1 faerg Siet O T T A 2

@) @ FE B) T faE wE

(€) Had f@e =anee (D) vamfde aneEs

Who among the following were in the Chandaval Squad of Maharana Pratap
the Battle of Haldighati ?

1. Purohit Gopinath 2 Rana Punja
3. Jaimal Mehta ‘ 4. Hakim Khan
5.  Charan Jaisa ' 6. Krishnadas Chundawat
) - 1,3,8,4 B) 2 3,4.5
cy 2356 My 1,2.3,5
Epifefiga 31 @ @ eedlaidl & A 9 TRV S o e g | e o 2
T CL G RRIE1S 2, O s
3. A Hedl 4. W W
5. ARY I 6.  HUE™ '*Ti_'STEIFI
A 1,239 B) 2,3,4,5
€ 23,56 ' M) 1,2,3,5
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e e s e b—— 0 Sl e e Ml e il e e e o e — i =

::::‘i:n:iht:c following Chhatris is considered as the largest Chhatri of
(A} Chhatri of Ramgopal Poddar (B)  Chhatri of Kalyan Singh
(C) X Ehhil\!ri‘of Hardayal Singh (D)  Chhatri of Gopal Singh
qumahnahmaﬁﬁﬁlﬁnamﬁaﬁmaﬁwﬁwm% ?
(A)  TTIYTE YIEER Y g (B) =eam fige %1 gad

(©) &= e+ e L) T e = g

In which state Durgadas Rathore’s Chhatri is situated ?

(A} Rajasthan (B) Uttar Pradesh

((.2)r Mac}hyafradisi} ' (D)  Gujarat

SIS ST =l TERT Tohd U 1 fyg & 2

(A) WJ{H ' B S et

(C) T TR (D) TR

In which arca did the Chawand painting style develop ?

(A)  Mewar (B) Haroti

(C) Marwar (D)  Shekhawati

a1qug Tereelr Yelt @1 faem fea &7 § gan 2

(A TETg (B) TR

(€ FRarg (D) VmEER

Smt. Kishori Devi was associated with which peasant movement ?
(A) Barar _ (B) Sikar .
(C) Bijolia (D) Bikaner .
et TRl <o fora foram anion 9 amg @ 2

(A)  TE B HiH

() Tasfican ' (D) IR

In which part of the body is the ornament ‘Bajatti’ worn ?

(A)  Nosc _ (B) Teeth

(C) Ear (D) Neck

‘FFZZ1’ A SET TRR & fag s A wier e e e

(A)  AE (B) =

(C) @A (D) el

Edward Thorndike ( 1898 ) is famous for which principle in Educational

Psychology ?

(C)  Learning theory (D) Adjusting theory

22259 | W0 0 Soe P.T.0.
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muﬁgmm[wgs]ﬁfmwuﬁrhﬂﬂﬁmﬁm- & fetu ST @1 E 2
(A)  wgfa = fagr (B) ferapfe =1 =
) "reEA = fagr (D) agrEeE # fEErd

What is the proposed National Assessment Centre named in the Natig

Education Policy, 2020 ?

(A) DIKSHA (B) NIKHAR

(C) DISHA (D) PARAKH >
g et =i, @goﬁmﬁaw,ﬁamwaﬁ:m‘nwmﬁmwg ?
() e B) FER _
© fm D) &

schools

When was the ‘CALP’ programmc initiated in uppcr primary

Rajasthan ?

(A) 2007-08 (B) 2010-11
(C) 2015-16 (D) 2004-05
Wﬁmmmﬂtﬁﬁm[camaﬂmmmmgan ?
(A) 2007-08 (B) 2010-11
() 2015-16 (D) 2004-05

ly.

\

When was the ‘objective resolution’ accepted by the Constituent Assembly

presented by Pt Jawaharlal Nchru ?
(A) Deccember 9, 1946 (B) December 13, 1946

(C) January 22, 1947 (D) January 26, 1947
HWWWW@WWWWWWW

T ?
A) 9 "&@ER, 1946 @) 13 faaE, 1946
@ 22 5, 1947 (D) 26 A, 1947

The ‘Right to Education’ was made the part of which Fundamental Right by !

Constitution Amendment Acl ?

(A) Rightto Frecdom | (B)
() Cultural and Educational Rights (D)  Right against Exploitation
F&zmgwmaﬁrﬁmm foe ¥ afusr’ =1 g Hifces aifyeR @
e ?

@ #1 AU (B) WHMAT &1 HfuwR

frear UH WA HI HUHR (D) ¥ & fawg srfuer

Right to Equality

(€)
120. When was the ‘Protection of Children from Sexual Offences Act’ gnacte
India ? . POCSO- ~'2.ma
(A) In 2010 (B) In2012
() In2014 (D) In2016

22089 |HIHI [T 1] —
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SRS LE iy IR O v B R TR G0 ey 3 S —— 7

(A) - 2010 (B) 2012
(@) 2014 (B) 2016
L%l, The ‘National Voter Day'is celebrated in India on
(A)  25th January (B) 25th March
(C) :’?Sth September (D)  25th November
WRA UG Howw fagw' 5emEr e d
1A) 25 5] (B) 25T
(€) 25 famer (D) 25 7T
122, ‘Agriculturc and Irrigation’ are included in the list of the Constitution of India,
which is _
(A)  the Union list (B) the State list
(C)  the Concurrent list (D) residual subjects
wrecits w5t e et 3 i wd firer @t e fan g, @
(A) ¥ g tB). ToF
(C) W g (D) 3T foem . -
123. Undcr which Article of the Constitution of India, the Supreme Court has been
~~ given place as the ‘Court of Records’ ?
(A) 129 | (B) 130
() 137 (D) 143 '
v & fFa e & aia Hared e @i e =’ S e e
T E ? '
(A) 129 (B) 130
@ 137 _ (D) 143
124. Under which Article of the Constitution of India, executive power of the union is
vested in the President ?
(A) 53 (B) 54
(C) 55 _ (D) 56
v i % e SR s gl A # st e G
B & 2
A 53 (B) 54
(C) 55 i
25. Chapter 2A of Rajasthan panchayat Raj Act, 1994 provides the formation of

2259 | BIEIHINN Le66

(B) Panchayat Samiu
(D) Gram Sabha
g 2 & 1 510 e & uEeE g, w9 R

(A)  Gram Panchayat
(C)  Zila Parishad :
T dgd U afufAgd, 1994 F

(A)  Ur Ygrgd (B) tEmE Afifd
(D) U

(©) forem aftug

P.T.0,
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} IIl(:II:l]"'['I‘ at . ] » I:')‘qlt(_.' l,t'j_li‘;l
- i L3 4 ( \'t.!’l'l'f)f In I 1C » |

Council ?

A 1/3 B 1/12

©  1/9 By = s
wﬁmmﬁﬂwfmﬂﬁmﬁaﬂnﬁmm ey ST & 2
(A) 1/3 @ 1/12
€ 1/9 @ 1/6

127, The first Deputy Speaker of the. first Lok Sabha in independent India, was
(A)  Sardar Hukum Singh (B) S.V. Krishnamoorthy Rao
(C)  Anant Shyanam Ayyangar (D) G.G. Swell
T AR T Ve wien W7 % woE 39 9
B  TER &Y fae (B) TH. ol FOHA TS
(€) 37T ¥R AR (D) . A =

@. Who is the in-charge of the Voter Register’ at polling station during polling
India ?
(A) * The first Polling Officer (B) The second Polling Officer
(C) The third Polling Officer (D) The Presiding Officer
YRA H HAGH & AR HAGH &5 W TR el H g HE a0 © 7
(A)  WIH HagH SER] ®) Tadm TaEE st
(C) T AeRE sifumit (D) YiBrEE uEI

L.?J- In which form of the Government the executive is responsible to the legislatur

(A) Parliamentary Government (B)  Presidential Government
(C) Totalitarian Government (D)  Military rule
T wmg et B e fata S oig s e o
(AT wﬂa TEHN (B)  3eHefiy Wan
(C) FHTIHRERT AR (D) At v
1;0‘ Which one of the following is an example of ‘knowledge objective’ ?
(A) Explain (B)  Construct
(C) Define (D) Analyse

1 9 @ s-a T W w5 s o)
(A)  FATEAD BT

(B)  TF91 &
©) ufeafud @ o

(D) faveior g,
yJ' The principle of curriculum which emph
(A) ¥

asizes on ‘e
rinciple of motivation

(B3)
(D)

22059 |WIINIL

arning by doing’, is

Princi 3
geans o Ple of broadness
(C) Principle of activity roadness

Principle of utility,
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Wi & T faq e e W aer fan s g, 9w b rFa
(A) - HERIT T _ (B) A & T
@) A g (D) STEIEE @ e
132. The direction of trade winds in northern hemisphere is
~~ (A) North East to South West (B) South West to North East
(€) %30Lll'hj3a$t to North West (D) North Weslt to South East
ITRI TEE H 249 Ya-i & yge &) 99 el €
(A) I gF F i gy (B)  giewn ufvaT F 3 7@
(@) afEv g | I 9fgan (D) I GfvEm ¥ gidor yd
|33, The maximum distance between the sun and the carth is called
~ (A)  Perihelion ’ (B) Pengee
{C! f\phfli?n ) ) ~ (D) Apogee
q4 Ud U § 0 HMHdH g0 FedArd! &
A) W . (B) 3T
(C) 3HHR (D) 3@
134. In a food chain a ‘rat’ comes under the category of
(A)  primary consumer ‘ (B) - secondary consumer
(C) tertiary consumer (D) produccer
Er SEer ¥ ger’ T il e g, ae e
(A)  wrafas Iume B) fadias 3udrm
(C) eI SUMITH (D). - IIEH
-/5‘3 Which of the following statements is correct ?

(A) The direction of the wind in a cyclone in the northern hemisphere is
clockwise

(B) The dircction of the wind in a cyclone in the southern hemisphere is
anticlockwise ‘

(C) The dircction of winds in cyclones on the carth’s surface is both clockwise
and anticlockwisce

(D) The direction of winds in cyclones on the carth’s surface is only
anticlockwisc

s 1 93 &19- ~-'*Tl Hgd ELA| 3 ?

(A) 77d] e 1 gward 1A Eﬁ! feram El—} ol ?Io & feun | T @

W) b i A A e A g A i e fandd e g

,3,;” i i ,,,H-m] T gal cﬂ f*vn uel &l ¥g @l feen vd w2 @) @ &)

feonr 3 fadia, @1 € sl 1 ¥lel €

(D) YAl @l T ¥ Al T e YF‘JII dheled wgl il gd @l & fauda &

rAG I

(er

e | 66 PT.O.
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136 Which of (he [ollowing decades registered negative pr:-puI.'uiurl gmwlh. n ]"ﬂia;
) (A) 1907 - 191 (13) 1911 - 1921

(C) 192 1031 D) 1971 - 1?3 ]_ .

RIERIE FEov. T § SrereeR S gha we TR ?

(A) 1901 - 107 B 1911 - 1921

(€) 1921 - 193 (D) 1971 - 1981
137."Which of the following is the oldest iron and steel company in India ?

(A)  TISCO (B) 1SCO

(C)  wviIsL (D) SAIL

53 31 3 w1 wlig-gar @ wga 5 it @ E 2

(%) -- TISCO (B) 1ISCO

C) VISL _ (D) SAIL

138, The correct order df location of given physiographic features [rom north
-’_/ south is
(A)  Tarai — Bhabar — Khadar — Delta
(B)  Tarai — Bhabar — Delta — Khadar
~(€)  Bhabar — Khadar — Delta — Tarai
- (D) Bhabar — Tarai — Khadar — Delta
81 -3FaEl w0 S | ghr feew  srafiuia w1 @@ W E
() T — WA — " — e
(B) ~ T — IR — 2l — WY
([er WE — @R — e — W8
(D) WER — % — @Y — 2o
139. Which state is the largest producer of Gypsum in India ?

(A)  Rajasthan (B) Gujarat

(C) Jharkhand (D)  Madhya Pradesh

e T T 1wl IOEE T FEAWE )

(- THEE (B) T

(C) FREAVS (D) T wey .
140, - Zanskar river is used for irrigation and power generation in which region ?

, /_ (A)  Arunachal Pradesh (B)  Sikkim

(C) Ladakh © (D) Garhwal-Kumaon
. igE € w3 R U e 3o e T wden o faan s ¥

(A)  HEUTAA potll ) fafdam

() TR (D) TEaET-FHnrE;

22259 | TN L
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141, ‘City of hundred islands’ is located in which district of Rajasthan ?
g (A)  Dungarpur (B) Udaipur

[(;.] Pr:'_lt;tpgarh (D)  Banswara

i 23 IR T & fpa e g fem ® 2

(A) ST (B) 3I¥Y

(€)  FEATE (=) Eﬁ'{TflﬁéT

list of

i

Which of the following tribes of Rajasthan has been included in the
primitive tribal group by Government of India ?

(A) Bhil ' ) (B) Saharia

(C) Garasia (D) Mecna
memﬁammmaﬁmﬁmﬂmaﬂﬁmmﬂﬁwﬂw
7 e ferar T € 2 ‘

A) Hie (B) e

(€ TR (D) o
143. The largest sweet water lake in Rajasthan is
= (A) Jaisamand (B) Rajsamand
(C) Kayalana (D) Silised
oA T S T g e &
) TEEEE (B) TSTHH=
(C) HEAAT D) faciEs
144. Rajasthan is the largest producer state of which of the following crops in India ?
-~ (A) Maize (B) Groundnut
(C) Mustard (D) Cotton
T R d B § @ F-a g 1w e T € 2
(A) TR | (B) H
© @G (D)
145. Which is the best means of cxplammg the shape of the earth in a classroom ?
~ (A) Globe (B) Map
(C) Diagram (D) Chart
qugﬁﬁmﬁwnwﬁmmmww% ?
Qi) T (B) THEA
() vaia= (D) ©E
146. The question-answer technique can be quite effective in teaching social science
- as it cnsurcs
(A)  students’ ability to respond better in examinations
(B) students come to class well-prepared
(C) active participation by lcarners
(D) a more disciplined classroom
22259 il | P.T.O.
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. The word ‘Assurance’ is used for

ST[

- o al ﬂ‘qﬁﬁr 'FJIT—F ag 7@1
HIHITT "

E‘%’T’}j‘;_ debeiieh rfees e & e
() T =) e o e S G
(13) ﬁzm'.n Fedl :ﬂ—.ﬂ —mm & i @

D) T dmaﬁﬂfﬂﬁsﬁmﬂ

-f:{?ﬁTE:rTTﬁ

(B) Fire Insurance

(A)  Life Insurance |
Medical Insu rance

(C) Marine Insurance (D)

‘UYHR=E' VI T WE BT @ e

(A) St i % e (B) A P L i

€ T A % o (D) Faferean sHT < 16T
Which of the following scttles the consumcr disputes at district level 2
(A)  Sessions Court (B) District Court

(C) District Forum (D)  District '?Ol]DClur,
Friferfiae 3 2 foretr Ta¢ X Suwi o) o1 e i HE € 2
(A) T HEEE ) frer =

(© foer &R ~ (o) ferdte

Central bank of our country is

(A)  State Bank of India (B) Reserve Bank of India
(C) Central Bank of India (D) Bank of Baroda

O T ] Foald A% §

(A) HRAH ©E 9% @ e e g9

(€) Hge 9 3 3UeE (D) e 3T ST

The headquarters of Rajasthan State Cooperative Bank is located at
(A) Jodhpur (B)  Jaipur

(C) Ajmer " (D) Kota

e 5T Tehil 9a &1 Jeaed o &

(A)  STMYT B) SER

(€) TR ' (D) e
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